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One who places in escrow a v for his wife — INWRY VA WISRAT

OVERVIEW

The X3 cited two min»12 one regarding INWX? v 2w which supports the view
of 27 that the three month waiting period begins 711°n1 nywn, and the other Xn>>72 of
NWRY vx wownn, which supports the view of X that they begin 72°n> nywn.
There is a disagreement between "7 and M»dOIN regarding the case of VX WHwnn
INWR? (where she is not required to wait) as to the whereabouts of the husband.
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>'"w1 explained, and the husband went on his way (he was not with his wife) -
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And it was unnecessary for *"w7 to explain it thus, but rather the Xn»™21 is
discussing a case even where the husband is in the same city as his wife —

mooIn responds to an anticipated difficulty:3
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And this Xn>m2 mentions 2w (and not 2w, which would indicate that he is
elsewhere), to teach us a novelty that even though the husband is in the same
city, nevertheless -
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She is permitted to marry immediately for we are not concerned for a > w3 -
1DOUTN AYIY 'PRNNY 13598 I3 IPRY 29 YY ANT XINATY NIUA VD) 9o
And previously the other Xn>12 mentioned 2w to teach us the novelty that
even though the husband is not in the same city (so there is certainly no wwn of 03

127); nevertheless, she is obligated to wait three months (because "2 2°w1 '2 x>, as
the X771 stated previously).

e .
* Presumably (according to noo1n understanding of >"w1) this explains why we are not concerned for a 12 3 (see
03 7"7 "W). See 7" for an alternate explanation.
? The two min™12 argue whether the three months begin 72°n2 nywn or 71°N1 Nywn; why is it however that one xn™12
states 7w (which indicates the Hva was not 7°¥2) and the other Xn»72 states w>>wni1 which (in contrast to W)
indicates that the ¥ is 7°va.
* However according to *"w that the Xn™12 of w*>wn7 is when he is not 1°v2, why mention w*>wna (which indicates
that he may be 2°v2), it should have said n?wn which indicates he is not 1°va. See ‘Thinking it over’.
> This X012 agrees with HXmw.
® Both mn>a (M2 wi and °Xwni) agree that there is no wwr for a 1w v3. See previous T 7"7 '0In footnote # 4.
7 This xn*"2 agrees with 2.
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SUMMARY
We are never concerned that perhaps it is a J0° ©3,

THINKING IT OVER

According to m»oIn that the w17°n of wowni is that even though he is in the city we
are not wwn for a 7w v, why did the X172 need to teach it by w*>wnn, it could
have taught us the same 1717 in a case where the husband wrote the v3 and held it
for three months before being wx» with it (without a wbwn)?’

8 See footnote # 4.
? See *"xon.
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